[ Efficiency vs vertpos |

Ratio

=
|||||.I_(-_I_l_j.l_l IIIIIIIIII
v Ll v v

4

¥

4

+

.

k)

0.8 . :
1072 10 1 10 0?
TP vertr (cr%)

MKFT_TT1base

mkFit_TT_baseline_6iter

<4

DQ
DQ
Efficiend —— B3

mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

~ 0.02p : : : : :
T s
016F : : ' : '
014F
012F
0.01F
0.008F
0.006F
0.004F
0.002
.Q)

EHHCIRRCY S 8T

Ratio

T
;
-
%
:
:
;

et 1111111 L S

30 -20 -10 O 10 20 30
TP vert z (cm)

0.l

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

104

Ratio

iy

Sim. PV z (cm)



	Contents
	Page 1


